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Labelled Graphs, Determinants and Dynkin Diagrams
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det A, = det A,—; — 1/4det A,_,

=n/2""1 — 1/4(n — 1)/2n~2
=(n+ 1)/2" > 0.

det B, = det A,—; — (/2/2)* det 4,_,

=n2" ' —(n—1)2""1=1/2""1 >0,
detD,=detA,-; — 1/4det 4,_3
=n2" ' —(n=-2)2""1=1/2""2>0

det Iy = det A, — o> det 4,
=3/4-02=3-./5/8>0,

det I, = 1/2 — 30%/4 = (7 — 3,/5)/32 > 0,

det F, = det By — (1/4) det A, = 1/16 > 0,

and forn=6,7, 8

Rsi o—o—o—I—o—m—o RgZ (_T—:—‘___D

det E,=detD,_; — 1/4det 4,_>

=1/2""3—(n—-1)2"= (9 — n)/2" > 0.
det Pn =0 (row sum 0)
detQ,=detD,_, — 1/4detD,_3 =0,

det S, =detB,_, — 1/2det B,—-, =0,
det 7, =detB,-, — 1/4det B,_3 =0,
det U3 = det A, — 3/4det A; =0,

det Y5 =det I, — > det I

Graph Base
=1/2 — 30?/4 — B*(3/4 — a?)
A, r=ey —e, 1<i<n
B, r=enri=e—e_,2<i<n =3(1 — 20 + 28)/16 =0,
D ri=eitenr=e—e2<i<n det Vs = det B, — 1/4 det A3 = 0,
Hj ry =(1,0), r, = (—cos n/n, sin nt/n).
G, ro=e,—e;,r,=e —2e, +e;. det R, =det Eg — 1/4det As =0,
I ry = BQRa + 1,1, =2a),r, = f(—20 — 1, 1, 2a),
ry = o, =20 — 1, 1), det Rg =det E; — 1/4det Dg =0,
i ri=BQRx + 1,1, =20,0),r, = f(—20 — 1, 1,2, 0), det Rg = det Eg — 1/4det E; = 0.
ry = fQa, —2a — 1, 1,0),ry = f(—20,0, =20 — 1, 1).
F, ri=—(1/2%te,ry =€, ry =€, —e,,ry=e;—e,.
Eq  ri=(1/)Ce~Sje)ri=¢,—e 1,2<i<6. Base  Group 1Al Root system &
E =(1/2)(Z3e, — Z8e)r. = e, — <.
E7 "1—(1/2)():;@- ;:el)!rl_el ._1,251.—7 A4, o, n +n e, —e)l<j<i<n+l
8 ri=01/2)Z} e —Z8e),ri=e—e_,,2<i<8. B, a 2 te.l<isn tete,l<j<i<n.
D, 2, 2n(n — 1) te te,l<j<i<n
HY H 2n (cos jm/n, sin jn/n),0 < j < 2n — 1.
G, 9, 12 tle —e) 1l <j<i<3;£(l,-21),
(=2, 1L 1), (1, 1, =2).
I, KA 30 +e, 1 <i<3;B(+Qa + 1), +1, +2a), and all even
permutations of coordinates.
< || i || 1y A 120 te, 1 <i<4;(1/2(+L 1, £1, +1);
B(+2a,0, +(20 + 1), +1), and all even permutations
o (n+ 1) A 23.3.5 of coordinates.
@.. - - 26.32. 52 F, 7, 48 te 1l <i<ditete,l<j<i<4;
@n n=1. &, 27.34.5 (/D Zt e e = 1.
n ) E 3 240 te e, | <j<i<8;(1/2)ZY ey,
1 m &, 210 .34.5.7 8 b 5721;1n55.1=<i1 (1/2) Z7 ee
EA 12 & 214.3%.52.7 E, &, 126 Those roots of & orthogonal to u = (1/2)(1, 1, 1, 1, I,
Z, 27.32 1,1, —1).
Eg & 72 Thoseroots of & orthogonal to rg = eg — ¢,.




